
Toutes les Opérations (E)Calculez chaque somme, différence, produit, ou quotient.1 × 2 = 14 - 8 = 5 × 9 = 6 × 4 =48 ÷ 6 = 0 × 4 = 6 - 1 = 4 - 2 =13 - 9 = 14 - 7 = 6 - 2 = 56 ÷ 7 =3 + 4 = 7 + 9 = 72 ÷ 9 = 7 - 0 =81 ÷ 9 = 2 + 3 = 7 + 7 = 7 + 5 =8 × 8 = 5 × 0 = 7 × 2 = 7 × 7 =0 × 0 = 4 + 6 = 5 - 0 = 9 + 1 =5 × 6 = 9 + 5 = 54 ÷ 6 = 30 ÷ 5 =5 × 0 = 0 × 8 = 35 ÷ 5 = 27 ÷ 3 =7 + 6 = 7 - 3 = 42 ÷ 7 = 7 - 1 =3 × 2 = 7 + 3 = 8 × 4 = 7 - 4 =4 × 6 = 7 + 3 = 5 - 4 = 9 - 7 =3 × 7 = 27 ÷ 3 = 6 + 5 = 1 × 4 =5 + 1 = 13 - 7 = 2 ÷ 1 = 1 + 4 =9 + 8 = 4 - 2 = 3 × 4 = 11 - 9 =12 ÷ 4 = 36 ÷ 6 = 9 + 2 = 9 + 8 =10 - 3 = 9 × 7 = 7 + 7 = 8 × 6 =3 - 1 = 4 ÷ 2 = 1 + 9 = 8 ÷ 1 =5 + 9 = 12 ÷ 3 = 0 × 9 = 6 × 0 =4 × 3 = 9 - 2 = 0 × 9 = 6 × 7 =3 + 7 = 9 × 6 = 1 - 1 = 9 × 6 =3 ÷ 1 = 5 - 1 = 10 ÷ 2 = 14 - 5 =5 + 0 = 5 + 7 = 72 ÷ 8 = 9 - 2 =0 × 8 = 0 + 1 = 12 ÷ 2 = 9 - 1 =8 ÷ 1 = 8 × 1 = 8 - 5 = 1 + 9 =Mathslibres.com



Toutes les Opérations (E) RéponsesCalculez chaque somme, différence, produit, ou quotient.1 × 2 = 2 14 - 8 = 6 5 × 9 = 45 6 × 4 = 2448 ÷ 6 = 8 0 × 4 = 0 6 - 1 = 5 4 - 2 = 213 - 9 = 4 14 - 7 = 7 6 - 2 = 4 56 ÷ 7 = 83 + 4 = 7 7 + 9 = 16 72 ÷ 9 = 8 7 - 0 = 781 ÷ 9 = 9 2 + 3 = 5 7 + 7 = 14 7 + 5 = 128 × 8 = 64 5 × 0 = 0 7 × 2 = 14 7 × 7 = 490 × 0 = 0 4 + 6 = 10 5 - 0 = 5 9 + 1 = 105 × 6 = 30 9 + 5 = 14 54 ÷ 6 = 9 30 ÷ 5 = 65 × 0 = 0 0 × 8 = 0 35 ÷ 5 = 7 27 ÷ 3 = 97 + 6 = 13 7 - 3 = 4 42 ÷ 7 = 6 7 - 1 = 63 × 2 = 6 7 + 3 = 10 8 × 4 = 32 7 - 4 = 34 × 6 = 24 7 + 3 = 10 5 - 4 = 1 9 - 7 = 23 × 7 = 21 27 ÷ 3 = 9 6 + 5 = 11 1 × 4 = 45 + 1 = 6 13 - 7 = 6 2 ÷ 1 = 2 1 + 4 = 59 + 8 = 17 4 - 2 = 2 3 × 4 = 12 11 - 9 = 212 ÷ 4 = 3 36 ÷ 6 = 6 9 + 2 = 11 9 + 8 = 1710 - 3 = 7 9 × 7 = 63 7 + 7 = 14 8 × 6 = 483 - 1 = 2 4 ÷ 2 = 2 1 + 9 = 10 8 ÷ 1 = 85 + 9 = 14 12 ÷ 3 = 4 0 × 9 = 0 6 × 0 = 04 × 3 = 12 9 - 2 = 7 0 × 9 = 0 6 × 7 = 423 + 7 = 10 9 × 6 = 54 1 - 1 = 0 9 × 6 = 543 ÷ 1 = 3 5 - 1 = 4 10 ÷ 2 = 5 14 - 5 = 95 + 0 = 5 5 + 7 = 12 72 ÷ 8 = 9 9 - 2 = 70 × 8 = 0 0 + 1 = 1 12 ÷ 2 = 6 9 - 1 = 88 ÷ 1 = 8 8 × 1 = 8 8 - 5 = 3 1 + 9 = 10Mathslibres.com


